Chapter 11 Probability

11.1

Determine Probability Using Tree Diagrams
and Tables

Homework Assigned:
P416 #3, 4,5, 6, 7, 8, 10 *11, 13

I am now able to:

11.2

Outcomes of Independent Events

Homework Assigned:
P423 #4,5, 6, 7, 8, 9, 10, *12 *13

I am now able to:

11.3

Determining Probabilities using Fractions

Homework Assigned:
P432 #4,5, 6, 7, 8, 9, 10, 11, 12 *13, *15,

I am now able to:
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P437 #1-51
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Unit Test




Date:

11.1 Determining Probabilities Using Tree Diagrams

Probability is the likelihood or chance of an OLA'LDW\E, occurring duy “’5 an e.venr}

Some definitions for you to know:

Sample Space:
on  event

eq Con: ‘ H,T

Independent Events: ¥ne resuH oe one does

not mfluence the result of Fhe othey

list of all 'possi\a\e resulls for
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Can you express probability as a formula?

# favoucable oudcomes

oot 4F of outomes.

Outcomes: Possib\e cesulks. AL of Fhem +032H\er
moke op +he Sﬁmﬁb 5\50‘-(.6.

We can often determine probabilities from a tree diagram.

A spinner is divided into three equal regions called A, B, C. The spinner is spun twice.

a.) What is the probability of spinning an A on the first spin?

PA): 3
<~

Fraction Decimal Percent
/3 0.333.... | 33.3%
A A
dop = bofom *100

b) We can represent the sample space by drawing a tree diagram.
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¢) What do you tﬁTnk the probability of spinning an A followed by a B

PCA followed by B) - ‘%’
P(AB) - 3

PC A and B) = ‘2'
R q
order Atdnt mallec.

d) What is the probability of getting the same letter on both spins
How can you represent in probability format

3
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We can use probability
format to represent this
question.
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Determining Probabilities from a Table

Slick Rick McChip loves playing games with dice. He rolls two standard six-sided die.
One die is black and one die is red. He always rolls two at a time. We can use a table to
create a sample space for this situation.

Blede

\ 2 3 4 S S

l [, | [, 2 L L3 L, 1,51 1,4

2 2,0\ 2,2 2,3 2, 25 2,6

Red 3 3,1 2.2 | 3.3 3y 3.5 | 3,6
“ 4,0 4,2 | 4,3 4,4 ¥,5 1,6

5 51 5,2 5,3 5,4 5.5 5,6

6 1 6, | 2 | 63 | 654 e | 6.6

a) What is the probability of rolling doubles?

P(doules) = g% o “é

b) What is the probability of roIIing[more than ten)when we add the two outcomes
together?, 3

P(sum >10) = 36

(do ek inc\udeo)

Represent this situation in
probability format

(Phese indiude 10}

Plat least 10) - se,
c) What is the probability that the number on the red die is one larger than the number

" P(red 1s one more +ran Hock)

the black die?

3%

?L\l{) #3—-8,

d) What is the probability that the sum of the two numbers is less than 11%

Plsum <11) = 23 .

Represent this situation in
36
(o.\\ excgpt >

probability format




